
448-31-32 FXR Fat Cat 2:1 1989-2000 
448-31F         FXR Fat Cat     1989-2000     2:1 Black Louvered Baffle 

448-31FQ      FXR Fat Cat     1989-2000     2:1 Black Louvered Wrapped Baffle 

448-32F         FXR Fat Cat      1989-2000     2:1 Chrome Louvered Baffle 

448-32FQ      FXR Fat Cat      1989-2000     2:1 Chrome Louvered Wrapped Baffle 

Will fit 87-88 but you will have to make spacers to mount the trans bracket. 
 

1-1/4 20x1 ¼” Allen Bolt 

1-5/16 18x1 ¼” Allen Bolt 

1-5/16 18x3/4” Allen Bolt 

 

 

1-5/16 1” Hex Head Bolt 

1-5/16 ¾” Hex Head Bolt 

 

3-5/16 Lock Washer 

 

1-1/4 Flat Washer 

2- 5/16 Flat Washer 

 

2-3/8 Flange Nut 

 

1-5/16 Lock Nut 

 



 

 1-Bracket 

 

 

 



 
 

 



 
 



 



 
 

 



 
 

 



 

 

 



 

 

 

 

   


